

11/30/2020

Page 1 of 1

Vendor Ranking

08201117 Letting:

November 17, 2020 02:30 PM

Call Order: 008

E8S88-R0 Contract:

Turnpike District:

Counties: LAKE, ORANGE,

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OSCEOLA, SEMINOLE, SUMTER, TURNPIKE

Project(s): 19077445208 (*)

Contract Desc: ASPHALT REPAIRS - ZONE 3

Rani	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$350,350.00	100.00% Intent to AWAR
2	RANGER CONSTRUCTION INDUSTRIES, INC.	Responsive	Non-Winning Bid	\$1,107,857.25	316.21%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 15, 2020 AT 4:00 PM





Tabulation of Bids

Page 1 of 5

Letting: 08201117 November 17, 2020 **Call Order:** 008 **Contract:** E8S88-R0

District: Turnpike Counties: LAKE, ORANGE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OSCEOLA, SEMINOLE, Project(s): 19077445208 (*)

Contract Descr: ASPHALT REPAIRS - ZONE 3 SUMTER, TURNPIKE

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform maintenance and repair of asphalt pavement deficiencies and defects, including replacing existing asphalt pavement, providing thermoplastic pavement markings, and raised pavement markers at various locations on the Florida's Turnpike (SR-91), Mile Post (MP) 265.0 to 300.0, Western Beltway (SR-429) MP 0.0 to 6.0, Seminole Expressway (SR-417) MP 40.0 to 55.0.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day and night hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

Night work shall be performed between the hours of 9:00 PM to 5:00 AM, Monday through Thursday.

Mobilization item shall be full compensation for mobilization/demobilization per Location, for a routine response authorized by a work order. A Location is defined as item/items of work authorized by a single work order for work to be accomplished within a two (2)-mile length of highway.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Asphalt Paving. The Experience in Asphalt Paving Form (850-070-01) must be filled out and submitted with the bid to be reviewed by the Department. If a Contractor is presently prequalified with the Department in asphalt paving, it is not necessary to submit the form.

	e No / Item ID n Description	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE		(2) RANGER CO			
() in	ndicates item is bid as	Lump Sum		PARTNE	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00)01 (N	MAINTENANC	E SUPPORT SER	VICES (MH				
0005 TRAFF	0102 14 FIC CONTROL OFF	TICER	150.000 HR	68.00000	10,200.00	103.00000	15,450.00		



Page 2 of 5

Florida Department of Transportation



Tabulation of Bids

Letting	y: 08	3201117 I	November 17,	2020 Cal	Order: 008		Contract:	E8S88-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) TUF	UCTURE	(2) RANGER CO INDUSTR			
	licates item is bi	d as Lump Sum		PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0010 MILLING DEPTH	0327 70 1 EXIST ASPH	I PAVT, 1" AVG	12,000.000 SY	10.00000	120,000.00	20.00000	240,000.00		
0015 SUPERF TRAFFIO	0334 1 13 PAVE ASPHAL C C	_TIC CONC,	5.000 TN	500.00000	2,500.00	637.50000	3,187.50		
	0337 7 25 T CONCRETE E, INC BIT, FO	E FRICTION C-5, PG 76-22	490.000 TN	225.00000	110,250.00	1,050.55000	514,769.50		
	0337 781 T CONCRETE E,TRAFFIC B,	E FRICTION FC-12.5, PG 7	25.000 TN 6-22	500.00000	12,500.00	796.00000	19,900.00		
0030 MISCEL	0339 1 LANEOUS AS	PHALT PAVEN	5.000 IENT TN	500.00000	2,500.00	945.00000	4,725.00		
		MARKER, TYPI FACE MARKIN		2.00000	1,400.00	5.15000	3,605.00		
	24" FOR STOP	ΓANDARD, WH P LINE AND	100.000 ITE, LF	4.00000	400.00	10.30000	1,030.00		
	0711 11160 OPLASTIC, ST GE OR SYMBO	ΓANDARD, WH OL	15.000 ITE, EA	40.00000	600.00	160.95000	2,414.25		





Tabulation of Bids

Page 3 of 5

Letting: 08201117	November 17,	2020 Call	Order: 008		Contract:	E8S88-R0	
Line No / Item ID Alterna Item Description	ate Quantity Units	(1) TUR INFRASTRI	JCTURE	(2) RANGER CO INDUSTRI			
() indicates item is bid as Lump Sun	n	PARTNER Unit Price	S, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MAINTENANC	E SUPPORT SERV	ICES (MH				
0050 0711 11170 THERMOPLASTIC, STANDARD, W ARROW	25.000 /HITE, EA	40.00000	1,000.00	96.60000	2,415.00		
0055 0711 15101 THERMOPLASTIC, STANDARD-OI GRADED ASPHALT SURFACES W SOLID, 6"		4,000.00000	8,000.00	5,794.00000	11,588.00		
0060 0711 15131 THERMOPLASTIC, STANDARD-O GRADED ASPHALT SURFACES, V SKIP, 6",10-30 SKIP OR 3-9 LANE	VHITE,	4,000.00000	8,000.00	2,060.00000	4,120.00		
0065 0711 15201 THERMOPLASTIC, STANDARD-O GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"	2.000 PEN GM	4,000.00000	8,000.00	5,794.00000	11,588.00		
0070 E101 1 1 MOBILIZATION	9.000 LO	5,000.00000	45,000.00	15,635.00000	140,715.00		
0075 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	1.000 EA	5,000.00000	5,000.00	22,070.00000	22,070.00		
0080 E102 1 2 MAINTENANCE OF TRAFFIC (SITE SPECIFIC CONTRACTS)	30.000 E DA	500.00000	15,000.00	3,676.00000	110,280.00		
0001 MAINTENANCE SUPPORT SERVICES (MH)	Section Totals:		\$350,350.00		\$1,107,857.25		



11/30/2020

Tabulation of Bids

Page 4 of 5

Letting:	08201117	November 17,	2020 C	all Order: 008		Contract:	E8S88-R0	
Line No / Item Item Descripti		Quantity Units	INFRASTRUCTURE		(2) RANGER CONSTRUCTION INDUSTRIES, INC.			
•	() indicates item is bid as Lump Sum		PARTN Unit Price	ERS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract Grand Totals:			\$350,350.00		\$1,107,857.25		



11/30/2020

Tabulation of Bids

Page 5 of 5

Letting: 08201117

November 17, 2020

Call Order: 008

Contract:

E8S88-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.